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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes I|
eat:ﬁ sem‘ence. Then mad: ﬂle correct a::bmce on your answer sheet.

1-  That shy ............ young man had turned into a confident adult,
1) shameless 2) self-assured 3) reserved 4) expressive

2-  Students in colleges ........... a wide age range and exhibit very varying academic abilities
and communication skills.
1) obtain 2) distinguish 3) insert 4) encompass

3- Wanting to make a good impression, he found himself in a .......... about the right color
suit to wear to the business meeting.

1) quandary 2) deficiency 3) priority 4) repute
4-  Ted fell asleep during the movie because it had a very ........... plot.

1) invalid 2) monotonous 3) impure 4) controversial
3-  After running an early 5K race, Simone ............ devoured hearty breakfast,

1) beneficially 2) dramatically 3) voraciously 4) generously
6-  Heavy rains in March ............ the drought conditions.

1) revealed 2) envisioned 3) accelerated 4) alleviated

7-  He argued that he was not ........... because there was other work available within the
terms of his contract of employment.

1) sluggish 2) redundant 3) diligent 4) clumsy
T (T e— of the monument took five yvears to complete.

1) restoration 2) improvisation 3) invasion 4} enforcement
9-  He was found guilty and ........... to life imprisonment.

1} convicted 2) imposed 3) compelled 4) accused
10- The entire east wing of the building was ............ in the fire.

1) aggravated 2) prohibited 3) demolished 4) renovated

| PART B C]ﬁze Tﬂst
| Directions: Read the following passage and decide which choice (1), (2), (3), or
|| (4) best fits space. Then mark the correct choice on your answer sheet. |

Cinematographers remain virtually unknown outside motion-picture industry (11) ..........

their contribution sometimes matches that of the director (12) .......... . Although the director
has ultimate control over the visual image, the cinematographer actually records that image on
film, (13) .......... the director’s ideas and creating the atmosphere and the look of the film.
The association between the cinematographers and the processing laboratory is also of highest
importance because the cinematographer often spends hours (14) ......... after shooting,
checking the negative. On most feature films a camera team, (15) ......... of a director of
photography, cameraman, and assistant cameraman, shares the responsibilities.

11- 1) such as 2} since 3) despite 4) even though

12- 1) of importance 2) and its importance  3) with importance 4) is important

13- 1) to translate 2) translating 3) he translates 4) translates

14- 1) and right 2) and 3) there 4) for them

15- 1) it often consists 2) often consisting
3) which is often consisted 4) that consisting often
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PASSAEG 1:

The basis of materials science involves relating the desired properties and relative
performance of a material in a certain application to the structure of the atoms and phases in
that material through characterization. The major determinants of the structure of a material
and thus of its properties are its constituent chemical elements and the way in which it has
been processed into its final form. These characteristics, taken together and related through
the laws of thermodynamics, govern a material’s microstructure, and thus its properties. The
manufacture of a perfect crystal of a material is currently physically impossible. Instead
materials scientists manipulate the defects in crystalline materials such as precipitates, grain
boundaries, interstitial atoms, vacancies or substitutional atoms, to create materials with the
desired properties. Not all materials have a regular crystal structure. Polymers display varying
degrees of crystallinity, and many are completely non-crystalline. Glasses, some ceramics,
and many natural materials are amorphous, not possessing any long-range order in their
atomic arrangements. The study of polymers combines elements of chemical and statistical
thermodynamics to give thermodynamic, as well as mechanical, descriptions of physical
properties.

Besides material characterization, the material scientist also deals with the extraction of
materials and their conversion into useful forms. Thus ingot casting, foundry techniques,
blast furnace extraction, and electrolytic extraction are all part of the required knowledge of
an engineer. The overlap between physics and materials science has led to the gffshoot field
of materials physics, which is concemed with the physical properties of materials. The
approach is generally more macroscopic and applied than in condensed matter physics.

It is sated in the passage that ------- —

1) the way a material has been processed into its final form can determine its properties
2) performance of a material in a certain application may form its structural atoms

3) properties and relative performance of a material characterizes its desired properties
4) the structure of the constituent chemical elements of a material create vacancies

The passage mentions that
1} precipitates and grain boundaries create the material’s main properties
2) defects in a material’s microstructure manipulate its crystalline structure
3) a material’s microstructure manipulate its crystalline structure

4) glasses do not have any long-range order in their atomic arrangements

The passage points to the fact that -------- .

1) ingot casting may be necessary in conversion of material into useful forms
2) the main task of the material scientist is characterization of proper material
3) foundry techniques and blast furnace extraction depend on electrolytic tools
4) a material’s physical properties provide it with thermodynamic qualities
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PASSAGE 2:

In industry, product lifecycle management, PLM, is the process of managing the entire
lifecycle of a product from its conception, through design and manufacture, to service and
disposal. PLM integrates people, data, processes and business systems and provides a product
information backbone for companies and their extended enterprise. PLM should be
distinguished from 'Product life cycle management (marketing)' (PLCM). PLM describes the
engineering aspect of a product, from managing descriptions and properties of a product
through its development and useful life; whereas, PLCM refers to the commercial
management of life of a product in the business market with respect to costs and sales
measures. Product lifecycle management is one of the four comerstones of a corporation's
information technology structure. All companies need to manage communications and
information with their customers (CRM-customer relationship management), their suppliers
(SCM-supply chain management), their resources within the enterprise (ERP-enterprise
resource planning) and their planning (SDLC-systems development life cycle). In addition,
manufacturing engineering companies must also develop, describe, manage and communicate
information about their products. One form of PLM is ecalled people-centric PLM. While
traditional PLM tools have been deployed only on release or during the release phase, people-
centric PLM targets the design phase. As of 2009, ICT development has allowed PLM to
extend beyond traditional PLM and integrate sensor data and real time 'lifecycle event data’
into PLM, as well as allowing this information to be made available to different players in the
total lifecycle of an individual product (closing the information loop). This has resulted in the
extension of PLM into closed-loop lifecycle management (CLaM).

It is stated in the passage that
1) the process of managing a product is divided into design and manufacture
2) the lifecycle of a product at its conception is the main subject of PLM
3) a corporation’s information technology structure is partly based on PLCM
4) industries integrate people, data, processes and most business systems

The passage mentions that the useful life of a product is properly an aspect of -—---—--.

1) both PLCM and PLM 2) mainly PLMC

3) either PLM or PLCM 4) PLM alone

According to the passage, the management of communications and information
management in all companies may not include ------==vvun-- :

1) systems development life cycle 2) enterprise resource

3) product description information 4) supply chain management

The passage points to the fact that traditional PLM ----—--- -,

1) was a version of closed-loop lifecycle management
2) did not target the design phases of a product

3) took a lot of advantage from ICT development

4) had little to do with the on release product

The word ‘disposal’ in the passage (underline) in the passage in best related to -———-——-,

1) ‘maintenance’ 2) “waste’ 3) *purchase’ 4) *use’
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PASSAGE 3:

A mechanism has been defined by Reuleaux as a “combination of rigid or resistant bodies so
formed and connected that they move upon each other with definite relative motion.”
Mechanisms form the basic geometrical elements of many mechanical devices including
automatic packaging machinery, type writers, mechanical toys, textile machinery, and others.
A mechanism typically is designed to create a desired motion of a rigid body relative to a
reference member. Kinematic design of mechanisms often is the first step in the design of a
complete machine. When forces are considered, the additional problems of dynamics, bearing
loads, stresses, lubrication, and the like are introduced, and the larger problem becomes one of
machine design.

The function of a mechanism is to transmit or transform motion from one rigid body to
another as part of the action of a machine. There are three types of common mechanical
devices that can be used as basic elements of a mechanism.,

According to the passage, mechanisms do NOT constitute the basic geometrical elements
(1] — -

1) automatic packaging machinery 2) type writers

3) mechanical toys 4) textiles

The first paragraph presents the —----—- ——,

1) views of Reuleaux on solid bodies 2) definition of a mechanism
3) combination of rigid bodies 4) definite relative motions

The fundamental geometrical elements of many mechanical devices are -----——-,

1) mechanisms 2) machines 3) dynamics 4) bodies
Mechanical devices are exemplified in the -----=----- paragraph(s).
1) second and third  2) second 3) first and second 4) first

The initial step in the design of a complete machine is --———----—-,
1} the introduction of the problems of dynamics 2) consideration of forces
3) the kinematic design of mechanisms 4) bearing loads

Before the invention of electro acoustic equipment that generates and measures sound, the
available hearing tests gave approximate results in the best cases. A person’s hearing could be
explained in terms of the ability to distinguish between the ticking of a watch and the clicking
of coins or to determine the distance at which conversational speech or a whispered voice
could no longer be understood.

The word distinguish in the passage is closest in meaning to —----—--- "
1) discriminate 2) clarify 3) listen 4) conceal

The key element of the air conditioner is a fluorocarbon refrigerant that flows constantly
through the cenditioner’s mechanisms. It becomes a liquid and gives off heat when it is
compressed, and becomes a gas and absorbs heat when the pressure is removed. The
mechanisms that areas, one on the interior, which includes an air filter, fan, and cooling coil,
and one on the exterior, which includes a compressor, condenser coil, and fan.

The word element in the passage is closest in meaning to ---—-—-—-,
1) purpose 2} amenity 3) advantage 4) component
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